S 1.3 i RuyA N

I TR AN HIER £ 24
ay X, + 8 X, - ay, X, = by
)y Xy + Ay Xy + - 0y, X, =,

a.xt+ayx,++a,x,=b

n

()

B >k i (o] L.
ay dyy 0 a4y,

179X p_|@ @, - 4| FRAFIEE () BREITIIR.

anl a2 oo o a

n nn




)
Oy, + ), X e +a96 = by a, d, 4,
1Ay X TyXy T 1y, ,=b, (%), D=1 9 " Gy
kan1x1+an2'x2+“.+annxn :bn anl an2 ann
e -~
% 5o SR % N

MRZIEFIZHE (%) WREUTIRDAZETE, NAHIE
B (%) EME—1R

Dl DZ Dn
5=p BT B

HAD (=12, - -, RIBREITIIRDREFI T Ea, , a,,
o, SRR A T AR BT, by, - - -, b, [ TSEI A
BHTFIR.



(2x, +x, —5x, +x, =8
x, —3x,—6x,=9

B9 FRZLIETT 124 -

2x, —x; +2x, =5

X, +4x, —7x;+6x, =0

g RIUTIINA:

2 1 -5 1 a7 -5 13 o

1 =3 0 —6| |1 =3 0 -5
P=lo o 21 2170 2 -1 2 ¢ -l
) ) 7 -7

1 4 -7 | |lo 7 -7 12

13

12

= 27



=—108

— &

(0
-1

~7

&
4

-3
(]

&

1

—7

=3,x, =—4,x, =—1,x, =1

X

& 1tk A] 1



